Name _________________________________________ Date ________________
Lab

Percent of KClO3 in a Mixture

The mixture contains KClO3 and KCl.  You will decompose the KClO3 in the mixture by heating with a burner.  From the data obtained, you can calculate the oxygen in KClO3.  Using stoichiometry, you will calculate the mass of KClO3 in the mixture.  Lastly, you can calculate the percent of KClO3 in the mixture. 
1)
Mass test tube and catalyst



__________ g

2)
Mass of test tube, catalyst and mixture

__________ g

3)
Mass of test tube and mixture (without oxygen)
__________ g

4)
Mass of oxygen




__________ g

5)
Mass of mixture (2-1)




__________ g

6)
Mass of KClO3 in mixture 



__________ g

7)
Percent of KClO3 in mixture



__________ g

